EARAROBEEIERT — 2 N— IBISH —F

2019587 18H (H) 10m{£E4H

INRC2—4# C2 ¥#5%4m®L (w8 | mEmml - |5 5) o 8
[AE4£] 1% :260,000” ~ 237%:78,000 ™  33%&:26,000M” . 437%&:16,000 ™ ~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=3 2 6 | MMALZ 1:31.8 6-7-4-3 | 39.2| — 2 459 | MRBE (£E)
1lglo| 77 ~ 7] 86.0 i 1) (@) J P NEH
R:TwINEry b BiYay /T —F2 =i
oy = = 4 4 | HHREA 1:32.0 2-2-2-1 [39.9| — 4 446 | KBEX (EH)
EE 6| N7 AAT 54.0 (3/4) g | (B P N
R:TFyra4 K B:g43O0%UF EETT— L
. Son R :32. -1-1- . — hEFE (£8)
3188 Iy ITA % 4 54.0 (11312/42) 112 40.2 s :_7; BN -
LRI T— WA T—h BITILTA)R By 8
= > 6 | SHIEA 1:32.7 7-6-3-4 |40.2| — 1 453 | BIHEZ (£8)
4717 77>82103Y g 56.0 (2 1/2) (+3) WEK
R:8=/F¥LLy b BRI K-T e B
o= = 45 | FHARIK 1:33.1 5-4-7-5 | 40.2 | — 8 436 | MRBE (£E)
511 | N=/%77 54.0 @ G | B J PN
Lihrn=— B:ov/ v Eibitse]
S 4 o6 | TER 1:33.2 9-9-8-6 |39.9| — 5 467 | FEE (1£H)
6 3| BALYvT— 56.0 (1/2) (-3) | FABE .
LY FAINYHNR BTy I—Ta i
. SN i o6 | JISHE 1:33.3 8-8-9-7 |40.1| — 6 459 | FEARAT (1E8)
7 o | O —-XE>T 54.0 (3/4) 1 | @B PNE&}}
RO—YXAL A, BITFT—ZANTAY B OES
== HAKHRA : -5-5- = FIEF (BR)
8 4|7V BELT H o4 i‘zgS.O 1.(374).7 4-5-5-8 | 42.0 9 ;1:130) (ﬁ)ﬁaFm
R:iFHYTTI1RE B:UUI/EwIE i u
3 ft 5 | WTHE 1:35.9 3-3-6-9 |43.2| — 7 490 | FEARET (1EH)
9/5|5 71)/EXQ 5.0 6) 3 | [FJ PN;EH
:I7IN—F B:Ivx—2bx— s/ R
® I—F—@EBIERL
|S=7r= 8,6,5,4,1,9,7,2,3
Ao=5"= 8,6,5,1,4,7,9,2,3
T =35r= 8,6,7,9,4,5,1,3,2
41—F— 6,8,9,7,1,3,2,4,5
[ N5
B 9 350H 794K 6-9 720MH & 6-8 1,100/ &R 6-8-9 2,650
# B 9 1304 8-9 200 B E 6-9 2,160/ EE 9-6-8 16,270H
6 200M 6-8 290M B H 9-6 3,010M
8 1509

ABICOVWTRDTEEERROODE. TR LIV,




